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Question #1: (34 points)

A(30%)

;ﬁestion (1-10)
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: Sélect the best answer for each of ;he_follqwin

1) The following are all CPU components except:

@ RAM B) CU C) Registers D) ALU
» 2) The following are all computer output devices except (\AQ L‘)Z
nﬁer B) Speaker : C) Printer D) MOD.'!'EOT .
3) (21)s=( e U s
B R . "L D)None of the above. -
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4) 62 in Hexadecimal (base 16) equals in Octal (base 8) the value.
B4z B)144 0)241 D)None of the above.
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% 5) The exponent part of the floating point representation for the number .gioiz Is:
ovos\\\\ A) 01111001 1111011 €)00101111 D)011
y \\0B® :
' \\: O\; " 6) Using 8 bits to represent an Integer, the 2's complement representatlon of the Integer (-
LI 15)is:
3 ) 11110001 B)00001111 €) 11110000 D)11110010
ﬁ' ; \0\;\\\\5055
0% 7) EBa=L Jo .
&b  ppe3s 8) 5536 © Q36 D)None of the above.

8) Afloating point representation is usually,represented'ln memory.using:
A) 4 bits B)2 bytes @32 bits . D) None of the above.

9) s considered as primary storage .
@ ram B) D C)DVD D) Hard Disk

10) Which of the following MS Excel formulas is used to calculate the maximum value for
numbers in range D2:G2 ‘

A) max(D2-G2)  B)max (D2.G2) @ =maximum(D2:G2) D) None of the above
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’ Explain the four steps of the CPU machine cycle briefly
)T
2) deco cf('

3) excule—7
4) sTove /
Question #2: (25 points)

A) (15%) Using two’s complement with 8 bits representation, solve the foilowing (show your work):

(3B)1s - (28)9 = ( \QDOD\ 22 \\l \
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B) (10%) Represent the float value (-35.125hoin memory. (Show your work) 5
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Question #3: (20 points) - ' S\ »

Write an algorithm (pseudo codelw of employees
(one salary at a time) until a salary of 0 js entered b
(8%) should be deducted (- l¢aat 3 ) from each sala
k) “3000:Shekels: ‘Your:algorithm:should-print t

were entered both before and Wed

VslarT

that keeps reading the salaries

ary entered that exceeds (2

while

DT sum cquals Zelo

)QT Sum wﬂk Tq_xT Q&L.Lq\g Zcro
‘“Q\T T;'\C Salafits and sale aas X

B while Y nol equals Zero

leT Sum ef-;;».ou\s The old Sum w:\fxec\ X
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Dend

y the user. A tax of 8 percent

he sum of all the salaries that
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Question #4: (21 points)
A) 0%)
Clearly explain the differe :
’ G:P the difference between the following pairs of terms:
i) HTML vs HTTP:

\\'ﬁ‘? : w2V use @ 1n The wde/P

HT,'\L-' T we To Sav fcsesinO

.:\\_o,)l.D

i) Transport Layer vs Network Layer:

mpdel To oher

"ng\sQoﬂ‘ \q\beruﬂgugc F To nse.ﬂ pac

Nt wo & \o%gr\ﬂ“ LS > Cohntc The comouble s Toacﬂ-\g(

iif) Markup Language vs Programming
3 | e To progf™™
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B) (6%)
Define the following terms giving an example of each:
— 7

LAN: N Ywo ‘°‘~\\_<¥‘!\?i _\;iKe R\ nd

Protocol : D cofMh - e'é‘\)”_/E

Q6%

- What do each of the following acronyms stand for:
TCP: TaneCorvms ) CrdoOFTP: — /C:Z:jﬁ&) o\
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